


RELT 5530

Pozice Obj.cislo Popis Pocet
1 RELT5530-1 Screw St3*8 1
2 RELT5530-2 Blade 1
3 RELT5530-3 Line Guard 1
4 RELT5530-4 Right Motor Housing 1
5 RELT5530-5 Screw St4*16 25
6 RELT5530-6 Cover 1
7 RELT5530-7 Latch Cap 1
8 |RELT5530-8 Spring 1
9 RELT5530-9 Right Deck 1
10 |RELT5530-10 Right Tube Support 1
11 |RELT5530-11 Lower Tube 1
12 [RELT5530-12 Block 1
13 |RELT5530-13 Nut M6 1
14 [RELT5530-14 Knob 1
15 |RELT5530-15 Right Support 1
16 [RELT5530-16 Right Handle 1
17 |RELT5530-17 Right Cable Hook 1
18 [RELT5530-18 Power Cord 1
19 |RELT5530-19 Cord Sheath 1
20 |RELT5530-20 Clamp Plate 1
21 |RELT5530-21 Terminal Block 1
22 |RELT5530-22 Capacitor 1
23 |RELT5530-23 Microswitch 1
24 |RELT5530-24 Switch Trigger 1
25 |RELT5530-25 Spring For Latch 1
26 |RELT5530-26 Spring For Trigger 1
27 |RELT5530-27 Latch 1
28 |RELT5530-28 Insert 2
29 |RELT5530-29 Left Cable Hook 1
30 |RELT5530-30 Left Handle 2
31 |RELT5530-31 Left Support 1
32 |RELT5530-32 Bolt M6*40 1
33 |RELT5530-33 Handle Caover 1
34 |RELT5530-34 Front Handle 1
35 |RELT5530-35 Upper Tube 1
36 |RELT5530-36 Upper Lock Sleeve 1
37 |RELT5530-37 Lock 1
38 |RELT5530-38 Lower Lock Sleeve 1
39 |RELT5530-39 Left Tube Support 1
40 |RELT5530-40 Latch 1
41 |RELT5530-41 Left Motor Housing 1
42  |RELT5530-42 Left Deck 1
43  |RELT5530-43 Inductor 1
44  |RELT5530-44 Upper Motor Cabinet 1
45 |RELT5530-45 Carbon Brush 2
46 |RELT5530-46 Brush Holder 2
47 |RELT5530-47 Terminal 2
48 |RELT5530-48 Nut M4 2
49 |RELT5530-49 608 Bearing 2
50 |RELT5530-50 Screw M4*60 2
51 |RELT5530-51 Stator 1
52 |RELT5530-52 Rotor 1
53 |RELT5530-53 Lower Motor Cabinet 1
54 |RELT5530-54 Spool Support 2
55 |RELT5530-55 Spring 2
56 |RELT5530-56 Spool 1
58 |RELT5530-58 Spool Cover 1
59 |RELT5530-59 Rivet Hole 1






